EARAROBEEIERT — 2 N— IBISH —F

201858H25H (£) 2EIHRIH

m BSNE #—7> ¥5%3mt (EFE U nN>F \ (x4 Jl"ﬁ‘ (@l — | & (&) 1800M &
[A&4£] 1 7 22,000,000  ~ 2 7% :8,800,000  ~ 33 :5,500,000 4 7% :3,300,000 5 & :2,200,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ N SR — . = P Z
i o | BT s —3% [B] i 4 5*:1_05& 1.(5_1).8 1-1-1-1 | 36.7|107.7 | 3 506 %gég (TH)
LT RFU 2 B HLFIA—2 (O F = ries
=3 5 4 5 | BERE 1:51.8 2-2-2-2 | 36.6[108.0| 4 482 | BZILUEERE (R®)
oWl 4| TLTIZTIL 54.0 (") (16) | FHIEE
R ZANAFx2-) B:7—4—F+vUX Fh) T7— L
NN N AN : -3-3- BLEFER E#
3 7|1 B=XT 224 L i o4 il 1.(522>.1 3-3-3-3 |36.8|104.8| 2 ;1_5;6) Bust (
RA—-JZXA2 A4 B URFviN—)b 11— NETHS
i o6 | BElE 1:52.3 3-3-3-4 |36.9 [102.7 | 1 520 | EESFE (RR)
4111|777 57.0 A 1/4) (<) | A) ¥+ByrTr—L
R:¥r/0704 B:yUITL—X J—H Ty — L
H & :53. -8-8- . . FHEEX (ER
515l 7LaAN [B) 6 o 1(543)0 8-8-86-8 |37.1| 96.4 | 6 (4_?) E’%EE?EE?-
L:hxex) B:byTFITRK-F X A
5 S # o5 | SEAA 1:53.1 5-5-5-5 |37.6| 92.5 | 7 476 | MALLRHE (58)
EH 3| ¥ARNNYS 57.0 (3/4) - W) #5ILy k95T 5T4T
R:YZRE8—3I=24— B:HHFLLARa— RO
= it 7 | ARER 1:53.3 7-6-6-7 |37.6| 91.2 | 9 488 | HBTREA (i)
71515 HoZI)a—-I)b % 53.0 a -6) (#) &< >a%v—2X
LHISTLYSFL b B:HI5EL—% =E B
. “ =@ . _10-10- At+EBE (ER)
glgl1o| T -k UN= we | = 1.(554).2 10-10-10-10| 37.9 | 83.3 | 8 (5_03 zaagz—
XL THANAN BRF 175U HBITr—L
=52 # 5 | ENEAS 1:54.4 12-12-10-10{ 38.1| 80.8 | 5 536 | AEFR (RR)
9|8|11|TLTZTIY 57.0 (1 1/4) (1) | FHEE
LILNA T A—h— B:FLSV4D weESHE
= = ARiETG :54. —6-6- . . HEEH (EH)
wolzliol 7307« 254 (B) H o6 x 1(15;12)5 5-6-6-5 |38.9| 80.4 | 12 tg;‘ b
R:yA7% B:g1%75UT« ISHISHT 77— I
S= s S 1ERERA : —-8-8- ELEE (EXR)
ilzl g | K5I RO—2 (B] i 6 e 1751@:? 8-8-8-9 |38.7| 79.3 | 1 (z;iz) za%m(
X ThHANAN BiR=UyPaELY Y17 7—L4
i 3 = 4 6 | KEFHRIR 1:55.1 11-11-12-12| 38.7 | 74.9 | 10 496 | BERM (EX)
EH g|L-TIARTI 57.0 ® Gay | B ¥rEoL—sry
XL TAANAN BiL—F KX H— J—H T L
@ 71 L
) 48.9-36.7
NA>24 L | 13.0-11.9-12.9-12.8-12.3-12.2-12.6-11.6-12.5
® I —F—EBIERL
13—+— (¥2,4) (1,7) (3,10)5(6,9) -12-8-11
2= = 2,4(1,7)3(5,10)-(6,9)-12-8-11
Gol=5r= (x2,4) (1,7)3(5,10) (6,9)-(12,11)8
43—+ — (x2,4)7,1(3,10)5,6,9(12,11)8
[ N3
BB 2 530M 714K 2-4 630M e E 2-4 1,950 JEHE 2-4-7 3,010/
8 B 2 200M 2-7 540M B E 2-4 1,740 B 2-4-7 15,930
4 190 4-7 620 | | & H 2-4 3,190
7 170

ABICOVWTRDTEEERROODE. TR LIV,




